BEENRRX
(2020473 A 31 H BifE)
(BAL : B AH)
# B & # # 8 ik ]
B & B U EF £ 10,098 | R B 3 # # & = 339, 521
E A & & @& # 499 | o f H M 24, 451
& #& o = B 8,433 | ;B B # f+ B L & 2,878
) fill % 358,032 | R AEBRBEH 3 L & 178
H it & 515 | 8 & 5§ % % 179
£ B OB ® B E 9,580 | fi #& T B ¥ & & 10, 688
w ' B OE 2211 | A& ® o # & # 377, 898
T 0 f# B O E 64,339 | & x il 5, 000
B E B & & OE 4,184 | & X # £ = 313
g @ 35 %H £ ALY | B #® OB O£ & 76, 601
B (=] 3 = AbD, 796
T 8 X & & 76, 118
TOMEMIELTFHEES 38, 343
FH-REZESEAH 38, 343
i 2 g 0 B & & 114, 462
g E o &8 & & 492,360 | AEMERUMEEDH A 492, 360
() FeiSFIIE THRMZYVETTERLTEY £,
EZfEE
20194E4H 1H2 D
[ 202043 H31H £ T }
(BT - HHH)
# 8 & #
b w In * 219, 427
% 53 3] = I = 208, 227
(5 B E ® I A #& B #H ) (208, 029)
& B 8 55 Iz = 10,918
(3 &5 # B B U & &% £ U A ) (6, 651)
Z ) fth #® H Iz = 281
= # - A 214,940
% 53 3] = # A 203,516
(5 & E &K X % #& B £ ) (150, 083)
& 23 & 55! # H 1,693
®E ¥ 2 R U - B ® =B £ 9,698
z » ith #® H & A 32
= # Fl = 4, 486
o Al F % 1
o] i1l ] & 270
B ] Rl = # ) F % 4,217
ik A B b3 [4 1 R Bt 12
& A B % Ei B # 2,738
i* A B % & & 2,751
£ # # F £ 1, 466
(1) AT ATHRBEZYVECTRRLTBY 1,
BEHEIYIMLRYY — =Dk ®E
(20204F:3 A 31 H BUAE)
(HA7 - B H )
BEYILAYY— - v—DUfsE 271, 804
Bk RIDAEEEE 76, 882
BEYILRDS— - 7—OUHR 707. 0%

(1)

RGBT E THARME VBT TR RLTEBY 4,

- FREOAREL L OB, RBREEMITHIIES6RK L U8R
72 5 N RS K 5 R0 5O EICESWTEH L TEY £7,




